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1. Man: I can’t stand this class!
Woman: Well, you might as well get used to it. You have to take it in order to
graduate.

Narrator: What does the woman say about the class?
a. She does not like the class.

b. It is not a required class.

c. She has already taken the class.

d. The man will have to take the class.
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2. Man: I need an advisor’s signature on my course request form. Could I make an
appointment, please?
Woman: Oh, well, you don’t need to make an appointment. Just wait here. I’ll get a
pen.

Narrator: What is the woman going to do?
a. Make an appointment.

b. Give the man a pen.

c. Sign the form for the man.

d. Wait for the man.
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3. Woman: What did you do after you lost your passport?
Man: | went to see the foreign student advisor, and he reported it to the Passport
Office in Washington.

Narrator: What did the man do after he lost his passport?
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a. He went to see the foreign student advisor.
b. He went to Washington.

c. He wrote to the Passport Office.

d. He reported it to the Passport Office.
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4. Woman: When is John coming?
Man: Well, he said he’d be here at eight-thirty, but if | know him, it will be at least
nine o’clock.

Narrator: What does the man imply about John?
a. John is usually late.

b. John will be there at eight-thirty.

c. John will not show up.

d. John is usually on time.
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5. Man: Excuse me, Miss. Could you please tell me how to get to the University City
Bank?

Woman: Sure. Go straight for two blocks, then turn left and walk three more blocks
until you get to the drugstore. It’s right across the street.

Narrator: What can be inferred about the man?
a. He is a student at the university.

b. He is not driving a car.

c. He knows the woman.

d. He needs to go to the drug store.
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6. Woman: Are you still going to summer school at the university near your parents'
house?

Man: That plan kind of fell through because there weren’t enough courses.
Narrator; What does the man imply?

a. He could not stay with his parents.

b. He did not want to change his plans.

c. He will not go to summer school.

d. He has completed all the courses.
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7. Man: Have you bought your books yet?
Woman: | tried to, but the math and English books were sold out.

Narrator: What does the woman mean?

a. She will go to the bookstore.

b. The books were too expensive.

c. There weren’t any math and English books left.
d. She does not need any books.
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8. Man: Is that Mike’s car? I thought you said that Mike was spending spring break in Florida.
Woman: That’s Mike’s brother. He’s using the car while Mike’s away.

Narrator: What does the woman imply?
a. Mike does not have a car.

b. Mike’s brother is taking a break.

c. Mike is in Florida.

d. Mike is visiting his brother.
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9. Man: Excuse me. Could you tell me when Dr. Smith has office hours?
Woman: Not really, but there’s a sign on the door I think.

Narrator: What does the woman imply that the man should do?
a. Knock on the door.

b. Come back later.

c. See Dr. Smith.

d. Look at the sign.
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10. Man: Tom wasn’t in class again today!
Woman: I know. I wonder whether he’ll show up for the final exam.

Narrator: What can be inferred about Tom?
a. He has finished the class.

b. He has been sick.

c. He does not have to take the final exam.
d. He is not very responsible.
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11. Man: I’'m not sure what Dr. Tyler wants us to do.
Woman: If I were you, I’d write a rough draft and ask Dr. Tyler to look at it.

Narrator: What does the woman suggest the man do?

a. Ask Dr. Tyler to clarify the assignment.

b. Show a preliminary version to Dr. Tyler.

c. Let her see the first draft before Dr. Tyler sees it.

d. Talk to some of the other students in Dr. Tyler’s class.
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12. Man: Dr. Taylor’s class is supposed to be really good.
Woman: The best part is I can use my roommate’s book.
Man: I’'m not so sure about that. I think they’re using a different book this semester.

Narrator: What does the man imply?

a. The woman’s roommate took a different class.
b. The book is very expensive.

c. The textbook may have been changed.

d. The course is not offered this semester.
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13. Man: I'm going to get Sally a bike for Christmas.

Woman: Are you sure she’d like one?
Narrator: What does the woman imply?

a. Sally may get a bike for Christmas.
b. Sally already has a bike like that one.
c. Sally likes riding a bike.

d. Sally may prefer a different gift.
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14. Man: | signed the contract.
Woman: Do you really think you can work and go to school full time?

Narrator: What does the woman imply?

a. The man may be taking on too much.
b. The job is more important than school.
c. The opportunity is very good.

d. The contract may not be valid.
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15. Man: It’s your turn to call the names on the list if you want to.
Woman: I think I'1l pass this time.

Narrator: What is the woman going to do?
a. Spend some time with the man.

b. Make a list of the names.

c. Pass out the names.

d. Let someone else call the names.
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16. Woman: How is your experiment coming along?
Man: It’s finished, but it didn’t turn out quite like | thought it would.

Narrator: What does the man mean?

a. The results of the tests are not available.

b. The experiment had unexpected results.

c. He has not completed the experiment yet.

d. It is taking a lot of time to do the experiment.

3 35 e ey 4838 53 5l 5l das e Ol plel L i (S 50dS )
Q}J)T)‘ RS C'_.\_..a.b_?‘} QL:.:L:)\;WW} “C»H;‘U‘S_‘M u\{.;@ ou\.'.iTo)Lz):
Y NP ARV/- SR PER A | NSRRI gy /A TN [PHE g/ 4 7) R

Llosls

17. Man: What did you decide about the scholarship? Did you fill out the application?
Woman: I'm going to give it all I've got.

Narrator: What does the woman mean?

a. She will try her best.

b. She has to save her money.
c. She is still undecided.

d. She needs an application,
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18. Man: Dr. Taylor must have really liked your paper. You were about the only one
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who got an A.

Woman: | know.

Man: So why are you so down?

Woman: He never seems to call on me in class.

Narrator: What does the woman imply?
a. She likes Dr. Taylor’s class.

b. She is not sure how Dr. Taylor feels.
c. She did not get an A on the paper.

d. She is not doing very well in the class.
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19. Woman: Susan told me what you said about my accent.
Man: I don’t know what she told you, but I really didn’t mean it as a put-down.

Narrator: What does the man mean?

a. He did not mean to insult the woman.

b. What he said to Susan was true.

¢. The woman does not have an accent.

d. Susan did not report the conversation accurately.
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20. Man: Did you ever apply for that scholarship? You weren’t sure whether you
wanted to compete with all those applicants.
Woman: | decided to go for it!

Narrator: What does the woman mean?
a. She did not apply yet.

b. She is still not sure.

c. She has decided to compete.

d. She already has a scholarship.
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21.Man: Let’s go to the dance at the Student Center on Friday.
Woman: Sounds great, but I’m going to a lecture. Thanks for asking me though.

What does the woman imply?

a. She is not interested in the man.

b. She does not like lectures.

c. She would go out with the man on another occasion,
d. She would rather stay at home.
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22. Woman: Barbara sure likes to talk on the phone.
Man: If only she liked her classes as well!

Narrator: What does the man imply about Barbara?
a. She does not put much effort in her studies.
b. She is very likable.

c. She prefers talking to the woman.

d. She has a telephone.
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23. Woman: | used to teach English before | came back to graduate school.
Man: No wonder you like this course!

Narrator; What does the man mean?

a. He does not like English.

b. Graduate school is easier than teaching.

c. Itis not surprising that the woman is doing well.
d. The course is very interesting.
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24. Man: What are you going to do this weekend? Maybe we can play some tennis.
Woman: Don’t tempt me. I have to study for my qualifying examinations. I take them
on Monday.

Narrator: What does the woman mean?

a. She does not know how to play tennis.
b. She has to study.

c. She does not like the man.

d. She does not qualify to play.
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25. Woman: We’re going to the library. Want to come along?
Man: I’'m waiting for the mail to come.

Narrator: What does the man imply?

a. He does not like the woman.

b. He does not usually study at the library.
c. He has received a letter.

d. He will not go to the library.
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She is sorry that the man was denied his request.
He is surprised that the woman was denied her request.
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13. Man: You mean Dr. Franklin said you couldn't have an extension?
Woman: He said it was not his policy.
Man: Really?
Woman: Yes, so now I have to work over the holiday weekend.

Narrator: What had the man assumed?

A. Dr. Franklin is not very understanding.

B. The extension was a very bad idea.

C. He is surprised that the woman was denied her request.
D. The professor does not have a policy.
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Py
5.Man: Excuse me, Miss. Could you please tell me how to get to the University City
Bank?

Woman: Sure. Go straight for two blocks, then turn left and walk three more blocks
until you get to the drugstore. It’s right across the street.

Narrator: What can be inferred about the man?
a) He is a student at the university. (% ¥Y/9)
b. He is not driving a car. (% Y7/A)

c. He knows the woman. (% /%)

d. He needs to go to the drug store. (8.1%)
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11. Man: I’'m not sure what Dr. Tyler wants us to do.
Woman: If I were you, I’d write a rough draft and ask Dr. Tyler to look at it.
Narrator: What does the woman suggest the man do?
a. Ask Dr. Tyler to clarify the assignment. (/. 6¥/A)

b. Show a preliminary version to Dr. Tyler. (7. ¥¥/4)
c. Let her see the first draft before Dr. Tyler sees it. (/. 4/v)
d. Talk to some of the other students in Dr. Tyler’s class. (/. \/%)
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15-Man: It’s your turn to call the names on the list if you want to.
Woman: I think I’ll pass this time.
Narrator: What is the woman going to do?
a. Spend some time with the man. ¢.v/y)
b. Make a list of the names. ¢/ vf /v)
c. Pass out the names. (/. v¢/0)

d. Let someone else call the names. (7. A/Y)
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21-Man: Let’s go to the dance at the Student Center on Friday.
Woman: Sounds great, but I’m going to a lecture. Thanks for asking me though.

What does the woman imply?
a. She is not interested in the man. ¢ 11 /»)

b. She does not like lectures. ¢/ v/ )

c. She would go out with the man on another occasion, (7. 88 /¥)
d. She would rather stay at home. (/. va /o)
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Abstract

Implied meaning (hereafter, non-literal or indirect implicature) is studied in the field
of pragmatics which considers the intended meaning in the context of the situation
(Yule, 1996). The implied meaning is not denotatively expressed, but it is only
understood through the shared knowledge of the interlocutors. This study explores
the MA Persian speakers' lack of mastery on the listening module of TOEFL (Test
of English as a Foreign Language) since they cannot comprehend the implied (i.e.,
non-literal) and consequently, they achieve unsatisfactory results in listening
section. Sixty-two MA graduate students took the TOEFL listening module and they
were divided into two groups of high and low achievers based on their test scores.
Data were analyzed through the theoretical framework of Gricean Maxims (1975).
K-S test and independent samples t-test showed that the sub-groups of high and low
achievers are significantly different in understanding the implied meanings of
relevance and quantity maxims. However, both high and low achievers were not
significantly different in quality and manner maxims; however, the scores of high
achievers were greater than the low achievers. The difference did not meet the
significant level (.05). The findings of the study suggest that teachers should focus
on relevance and quantity maxims as the problematic maxims in recognizing the
implied meaning of the items. The nature of relevance and quantity maxims should
be clarified to the MA learners who need to infer the implied meanings of the
TOEFL listening module.
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Linguists always note the study of sentence meaning because an utterance may
convey various interpretations. Implied meanings of these interpretations may not
attract the attention of people since they are so conventionalized that we consider
them as literal. However, they may hinder communication or cause
misunderstanding on the part of the listener or reader. This problem can be amended
through apologizing or giving background knowledge. Although everyone has
various interpretations of the utterances, the context of the situation may limit a set
of meanings. In this case, the listeners' meaning can be different from the speakers'
intended meaning which is implied and this is the role of the listener or reader who
should discover the implied or indirect meaning of the utterances. Thus, the
receivers should distinguish the sentence and utterance meanings of the senders'
speech. Certainly, linguistic structures convey fixed meanings at the syntactic level
(e.g., It is very hot.) to open a small talk on the bus. This is different from the same
utterance (e.g., It is very hot.) when the speaker implies a request (i.e., get me a
glass of water.). If the addressee does not understand the implied meaning of the
latter, he/she may get confused (Verschueren, 2016).

In this study, we analyzed the participants’ responses to pragmatically loaded
TOEFL short dialogues to identify the characteristics that made them difficult for
MA students. The origin of the difficulty of understanding the nonliteral meaning is
the employment of Grice cooperative principles in the tests. The short dialogues,
which are characterized by the quantity principle, are the most difficult ones but
those that are characterized by the relevance principle are the simplest. These simple
dialogues may become difficult if they are culturally loaded or if there is a
combination of implicatures. Some items are tricky and do not indicate the
complexity of the dialogue or the implicature. Although the words “implied” and
“inferred” are interchangeably used, they do not convey the same meaning and are
not processed similarly. They may be a source of difficulty even for native speakers.
If words such as “imply” “mean”, and “suggest” are used in the item (e.g. what does
the man imply?), it is the signal that there is an implicature in one of the utterances
in the short talk exchange. This can help the learner to identify the nonliteral
meaning. Although the scenarios in the TOEFL exam correspond to the real
communication context, there is no one to help and signal the learner that her/his
interlocutor may convey a nonliteral or implied meaning. In sum, it is recommended
to consider these as well as Grice principles in teaching and learning listening
comprehension module .

The study of the application of Gricean principles in the TOEFL listening exam
revealed the difficulties in inferring the implied meanings of the listening items
which contain pragmatic and connotative aspects of language. Thus, the learners
even at the graduate level need to learn the inferring strategies. Administrators of the
listening comprehension test may encourage the students to focus their attention on
the implied meanings. Moreover, this study reveals the effective role of the
distracters which may be used as an inappropriate implicature .

Further research may deal with the other international exams like IELTS,
TOLIMO, GRE to discover the nature of listening items, their correct choices, and
distractors as well. Reading, speaking, and writing skills could be the subject of
future studies since both receptive and productive language skills need to be
evaluated in terms of the quality of their items regarding the reliability and validity
of test construction.

Keywords: Inferring, Implied meaning, TOEFL, Listening module



